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Kon-e<LL|INeBaa,*~ cMm. 99 99 99 99 99 99 99 99 99 99 99 99 99 99 99 99 99 99 99

HanmeHoBaHMe U KOTMYECTBO nNpoAYyKTOB NTaHWA, nognexauiero Ha 1 yen.
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3ABTPAK

Katua nweHnyHas

paccbinyaras ¢ Mac/iom 1 33 5

ryNsW 13 roBsaayiHbl 9,6 0,3 88 11,6 12,4 4 1,6

Yaii ¢ caxapom 15 1
Xne6 neHNYHbIN 60

nTOro Ha 1uen 0 9,6 13 88 ' -0 15 11,6 12,4 33 0 0 60 0 0 5, 0 0 4 1,6 1
WTOrO K Bblfjlaye Ha 3aBTPaK 0.0 '- 14 0,2 12.5, 0,0 2,1 1.6 1,8 4,7 0,0 0,0 15.2 0,0 0.0 0,7 0,0 0,0 0,6 0.2 14
LleHa 130,0 300,0 15,0 600,0 = 550 -90,0 45,0 55,0 80,0 600 120,0 30,0 120,0 220,0 800,0 125,0 80,0 150,0 40,0 180,0
Cymma 0,0 4090 2,8 , 7497,6 00 1917 741 96,8 3749 0.0 0.0 m 456,4 0,0 00 5680 0,0 0,0 85,2' 9,1 255,6
OBE/,

Cyn puCOBbIiA C rOBSANHON 4 0,3 32 60 8 8 4.8 2

BuHerpeT OBOLLHOM 40 10 30 8 20 5

A610K0 100

Kakao ¢ MO/IOKOM 12 122 2,2

Xne6 nweHnYHbI 60

UTOrO Ha 1 Yen 100,0 4,0 0,3 32,0 100,0 120 130 18,0 0,0 30,0 8,0 60,0 48 20,0 00 1220 2,2 7.0 0,0 0,0
MTOrO K Bblgaue Ha o6eq, 9,9 0,4 0,0 3,2 9,9 1,2 13 1,8 0,0 3,0 1,2 10,6 05 2,0 0,0 12,1 2,2 0,7 0,0 0,0

LeHa 130,0 300,0 15,0 600,0 55,0 90,0 45,0 55,0 80,0 60,0 120,0 30,0 120,0 220,0 800,0 125,0 80,0 150,0 40,0 180,0

Ha OVWIW 1287,0 1188 0,4  1900,8 5445  106,9 57,9 98,0 0,0 1782 1462 3182 57,0 4356 00 1509,8 1742 104,0 0,0 0,0

MNTOrO 3apeHb 1287,0] 527,8 5445] 298,6] 132,01 194,9] 374,9] 178,2] 146,2] 774,6] 57,0] 435,6 1509,8] 174,2] 189,2] 9,1] 255,6]

MpuHAN nosap Bpau (aunetcectpa) Bblgan knagosLmkK



